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1. Find an integrating factor for the differential equation, the general solution, and then the
solution of the initial value problem (15%)

y -242x%y'=0; y(9)=2.

2. Find the general solution (15%)

x2y"=2xy' +2y = x> cosx.

3. Solve the integral equation (15%)

f®O=-1+ [ ft-a)eda. | |

4. Solve the initial value problem of the system (20%)

2

=3y, +3y,+8 3
.IVI yl y2 i , X(0)= 3 .

Y2=n+35y, +4e .!i

3

5. Find the Fourier series of the function on the interval (15%)

l-x, -1<x<0
0o , 0<x<1

-f(X)={

6. Solve the partial differential equation (20%)

V=0 , 0<x<2, 0<y<2
u(x,0)=u(x,2)=0 , 0<x<2
u(0,y)=0 , O<y<2

u(2,y)=n , O<y<2




